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270 Managerial Accounting, 13th Edition 

Exercise 6-6 (10 minutes) 

1. The equation method yields the required unit sales, Q, as follows: 
 

 Profit = Unit CM × Q − Fixed expenses 
 $10,000 = ($120 − $80) × Q − $50,000 
 $10,000 = ($40) × Q − $50,000 
 $40 × Q = $10,000 + $50,000 
 Q = $60,000 ÷ $40  
 Q = 1,500 units 

 
2. The formula approach yields the required unit sales as follows: 

 

Target profit + Fixed expenses Units sold to attain  = 
the target profit Unit contribution margin

$15,000 + $50,000 
= 

$40

$65,000
=  = 1,625 units

$40

 


